



Solutions of linear and nonlinear Partial Differential Equations with initial conditions and multivariate Faà di Bruno formula

Feyed Ben Zitoun

► To cite this version:

Feyed Ben Zitoun. Solutions of linear and nonlinear Partial Differential Equations with initial conditions and multivariate Faà di Bruno formula. 2014. hal-00845788

HAL Id: hal-00845788

<https://hal.science/hal-00845788>

Preprint submitted on 10 Feb 2014

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

Solutions of linear and nonlinear Partial Differential Equations with initial conditions and multivariate Faà di Bruno formula

FEYED BEN ZITOUN*
Ph.D. in Engineering Sciences
`feyed.ben_zitoun@yahoo.fr`

January 6, 2014

ABSTRACT

This paper presents a method for solving a wide class of linear and nonlinear Partial Differential Equations subject to certain initial conditions. The proposed method reduces the Partial Differential Equation and the given initial conditions into a set of equations which allows us to obtain directly and easily the solution of the initial-value problem. The particularity of the method is that it uses the multivariate Faà di Bruno formula due to Savits and Constantine [T.H. Savits, Some statistical applications of Faà di Bruno, *Journal of Multivariate Analysis*, **97** (10), 2131-2140, 2006; G.M. Constantine and T.H. Savits, A multivariate Faà di Bruno formula with applications, *Transactions of the American Mathematical Society*, **348** (2), 503-520, 1996].

Keywords: Partial Differential Equations, Linear and Nonlinear Problems, Initial Conditions, Multivariate Faà di Bruno Formula, Series and Polynomial Solutions.

1. Introduction

The purpose of this paper is to present a method for solving a large variety of linear and nonlinear Partial Differential Equations (PDEs) subject to certain initial conditions. The proposed method reduces the PDE and the given initial conditions into a set of equations which allows us to obtain directly and easily the solution of the initial-value problem. The particularity of the method presented in this paper is that it uses the multivariate Faà di Bruno (FdB) formula due to Savits and Constantine [41, 25].

In the 90's, Rach, Adomian and Meyers proposed a Modified Decomposition Method (MDM) ([7, Chapters 5 and 6], [37], [11], [13]) based on nonlinear transformation of series [9, 10]. The method presented in this work is inspired and based on the MDM.

The rest of the paper is organized as follows. The next section is devoted to preliminaries. In section 3, we recall the multivariate FdB formula due to Savits and Constantine. In section 4, the proposed method is presented. An example is solved in section 5 to illustrate the efficiency of the method. Finally, section 6 concludes this paper.

*Dedicated to the memory of Yves Cherruault, Emeritus Professor at the University Pierre and Marie Curie, Paris, France.

2. Preliminaries

We recall some notation that will be used in this paper (see [25, 41]).

Let \mathbb{N}_0 denotes the set of nonnegative integers, $\boldsymbol{\nu} = (\nu_1, \dots, \nu_d) \in \mathbb{N}_0^d$ and $\mathbf{z} = (z_1, \dots, z_d) \in \mathbb{R}^d$. Then define

$$|\boldsymbol{\nu}| = \sum_{i=1}^d \nu_i, \quad \boldsymbol{\nu}! = \prod_{i=1}^d (\nu_i!), \quad \mathbf{z}^{\boldsymbol{\nu}} = \prod_{i=1}^d z_i^{\nu_i},$$

$$D_{\mathbf{x}}^{\mathbf{0}} = \text{identity operator}, \quad D_{\mathbf{x}}^{\boldsymbol{\nu}} = \frac{\partial^{|\boldsymbol{\nu}|}}{\partial x_1^{\nu_1} \dots \partial x_d^{\nu_d}} \quad \text{for } |\boldsymbol{\nu}| > 0$$

and for $\boldsymbol{\ell} = (\ell_1, \dots, \ell_d) \in \mathbb{N}_0^d$, $\boldsymbol{\ell} \leq \boldsymbol{\nu}$ if $\ell_i \leq \nu_i$ for $i = 1, \dots, d$.

A function h is said to belong to $\mathcal{C}_{\boldsymbol{\nu}}(\mathbf{x}^0)$ if $D_{\mathbf{x}}^{\boldsymbol{\ell}} h$ exists and is continuous in a neighborhood of \mathbf{x}^0 for all $\boldsymbol{\ell} \leq \boldsymbol{\nu}$ and $h \in \mathcal{C}^n(\mathbf{x}^0)$ if $h \in \mathcal{C}_{\boldsymbol{\ell}}(\mathbf{x}^0)$ for all $|\boldsymbol{\ell}| \leq n$.

3. Multivariate Faà di Bruno formula

We now recall the multivariate Faà di Bruno formula given by Savits in [41].

Theorem 1 (T.H. Savits). (*Multivariate Faà di Bruno Formula*)

Let $f(y_1, \dots, y_m)$ and $g^{(1)}(x_1, \dots, x_d), \dots, g^{(m)}(x_1, \dots, x_d)$ be real-valued functions and set

$$h(x_1, \dots, x_d) = f[g^{(1)}(x_1, \dots, x_d), \dots, g^{(m)}(x_1, \dots, x_d)]. \quad (3.1)$$

Let $\boldsymbol{\nu} = (\nu_1, \dots, \nu_d)$ with $n = |\boldsymbol{\nu}| > 0$ and \mathbf{x}^0 be given. Assume $g^{(1)}, \dots, g^{(m)} \in \mathcal{C}_{\boldsymbol{\nu}}(\mathbf{x}^0)$ and $f \in \mathcal{C}^n(\mathbf{y}^0)$, where $\mathbf{y}^0 = (g^{(1)}(\mathbf{x}^0), \dots, g^{(m)}(\mathbf{x}^0))$. Let also set: $h_{\boldsymbol{\nu}}(\mathbf{x}) = D_{\mathbf{x}}^{\boldsymbol{\nu}} h(\mathbf{x})$, $f_{\boldsymbol{\lambda}}(\mathbf{y}) = D_{\mathbf{y}}^{\boldsymbol{\lambda}} f(\mathbf{y})$, $g_{\boldsymbol{\mu}}^{(i)}(\mathbf{x}) = D_{\mathbf{x}}^{\boldsymbol{\mu}} g^{(i)}(\mathbf{x})$ and $\mathbf{g}_{\boldsymbol{\mu}}(\mathbf{x}) = (g_{\boldsymbol{\mu}}^{(1)}(\mathbf{x}), \dots, g_{\boldsymbol{\mu}}^{(m)}(\mathbf{x}))$. Under the above conditions $D_{\mathbf{x}}^{\boldsymbol{\nu}} h(\mathbf{x})$ exists in a neighborhood of \mathbf{x}^0 and can be explicitly expressed as below:

$$h_{\boldsymbol{\nu}}(\mathbf{x}) = \sum_{1 \leq |\boldsymbol{\lambda}| \leq |\boldsymbol{\nu}|} f_{\boldsymbol{\lambda}}[\mathbf{g}(\mathbf{x})] \sum_{p(\boldsymbol{\nu}, \boldsymbol{\lambda})} (\boldsymbol{\nu}!) \prod_{j=1}^q \frac{[\mathbf{g}_{\boldsymbol{\ell}_j}(\mathbf{x})]^{\mathbf{k}_j}}{(\mathbf{k}_j!)[\boldsymbol{\ell}_j!]^{\mathbf{k}_j}} \quad (3.2)$$

where

$$p(\boldsymbol{\nu}, \boldsymbol{\lambda}) = \left\{ (\mathbf{k}_1, \dots, \mathbf{k}_q; \boldsymbol{\ell}_1, \dots, \boldsymbol{\ell}_q) : |\mathbf{k}_i| \geq 0, \sum_{i=1}^q \mathbf{k}_i = \boldsymbol{\lambda} \text{ and } \sum_{i=1}^q |\mathbf{k}_i| \boldsymbol{\ell}_i = \boldsymbol{\nu} \right\}.$$

In the above, $\boldsymbol{\ell}_1, \dots, \boldsymbol{\ell}_q$ is a complete listing of all vectors $\boldsymbol{\ell} \leq \boldsymbol{\nu}$ with $|\boldsymbol{\ell}| > 0$, $q = q(\boldsymbol{\nu}) = \left\lceil \prod_{s=1}^d (\nu_s + 1) \right\rceil - 1$, the vectors $\mathbf{k} \in \mathbb{N}_0^m$ and the vectors $\boldsymbol{\ell} \in \mathbb{N}_0^d$.

Remark 1. The form of Theorem 1 is stated somewhat different from that in Constantine and Savits [25], but it is equivalent.

Remark 2. It is to be noted that other approaches can be used for computing the multivariate Faà di Bruno Formula (see the references).

4. Presentation of the method

4.1. Description and analysis of the method

To show the basic principles and the main steps of the proposed method, we first treat the following problem:

$$(P) \begin{cases} \frac{\partial^2 g}{\partial t^2}(x, t) - \frac{\partial^2 g}{\partial x^2}(x, t) + f[g(x, t)] = E(x, t) & (4.1a) \\ g(x, 0) = \phi(x) & (4.1b) \\ \frac{\partial g}{\partial t}(x, 0) = \psi(x) & (4.1c) \end{cases}$$

where $E(x, t)$, $\phi(x)$ and $\psi(x)$ are known functions and $f[g(x, t)]$ is a nonlinear function of $g(x, t)$. In the above problem (P), we have: $m = 1$, $d = 2$, $x_1 = x$ and $x_2 = t$.

4.1.1. Method of solution

Let us assume that the function $g(x, t)$ can be expanded in the form

$$g(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} a_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (4.2)$$

where

$$a_{(\nu_1, \nu_2)} = \frac{1}{\nu_1! \nu_2!} \frac{\partial^{\nu_1 + \nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} g(x, t) \Big|_{x=0, t=0}$$

In order to find the solution of the problem (P) in the form (4.2), the unknown values of the coefficients $a_{(\nu_1, \nu_2)}$ have to be found.

4.1.1.1. Treatment of the PDE

It follows from (4.2) that

$$\frac{\partial^2 g}{\partial x^2}(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (4.3)$$

$$\frac{\partial^2 g}{\partial t^2}(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} x^{\nu_1} t^{\nu_2} \quad (4.4)$$

We assume that $h(x, t) = f[g(x, t)]$ can be expanded in the form

$$f[g(x, t)] = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} A_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (4.5)$$

where

$$A_{(0,0)} = h(0, 0) = f[g(0, 0)] = f[a_{(0,0)}]$$

and for $(\nu_1, \nu_2) \neq (0, 0)$

$$\begin{aligned} A_{(\nu_1, \nu_2)} &= \frac{1}{\nu_1! \nu_2!} h_{(\nu_1, \nu_2)}(x, t) \Big|_{x=0, t=0} \\ &= \frac{1}{\nu_1! \nu_2!} \frac{\partial^{\nu_1 + \nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} h(x, t) \Big|_{x=0, t=0} \\ &= \frac{1}{\nu_1! \nu_2!} \frac{\partial^{\nu_1 + \nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} f[g(x, t)] \Big|_{x=0, t=0} \end{aligned}$$

In the above, $h_{(\nu_1, \nu_2)}(x, t) = \frac{\partial^{\nu_1 + \nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} f[g(x, t)]$ is given by (3.2).

We assume that the function $E(x, t)$ can be expanded in the form

$$E(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} e_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (4.6)$$

where

$$e_{(\nu_1, \nu_2)} = \frac{1}{\nu_1! \nu_2!} \frac{\partial^{\nu_1 + \nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} E(x, t) \Big|_{x=0, t=0}$$

Then, by substituting (4.3), (4.4), (4.5) and (4.6) in (4.1a), we get

$$\begin{aligned} & \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} x^{\nu_1} t^{\nu_2} - \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} x^{\nu_1} t^{\nu_2} \\ & + \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} A_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} e_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} \end{aligned}$$

and by equating like powers, we obtain

$$(\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} - (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} + A_{(\nu_1, \nu_2)} = e_{(\nu_1, \nu_2)}, \quad \nu_1, \nu_2 = 0, 1, 2, \dots \quad (4.7)$$

4.1.1.2. Treatment of the initial conditions

It follows from (4.2) that

$$g(x, 0) = \sum_{\nu_1=0}^{\infty} a_{(\nu_1, 0)} x^{\nu_1} \quad (4.8)$$

$$\frac{\partial g}{\partial t}(x, 0) = \sum_{\nu_1=0}^{\infty} a_{(\nu_1, 1)} x^{\nu_1} \quad (4.9)$$

We assume that the functions $\phi(x)$ and $\psi(x)$ can be expanded as

$$\phi(x) = \sum_{\nu_1=0}^{\infty} \phi_{\nu_1} x^{\nu_1} \quad (4.10)$$

$$\psi(x) = \sum_{\nu_1=0}^{\infty} \psi_{\nu_1} x^{\nu_1} \quad (4.11)$$

Substituting (4.8) and (4.10) into (4.1b) leads to

$$\sum_{\nu_1=0}^{\infty} a_{(\nu_1, 0)} x^{\nu_1} = \sum_{\nu_1=0}^{\infty} \phi_{\nu_1} x^{\nu_1}$$

consequently

$$a_{(\nu_1, 0)} = \phi_{\nu_1}, \quad \nu_1 = 0, 1, 2, \dots \quad (4.12)$$

Substituting (4.9) and (4.11) into (4.1c) leads to

$$\sum_{\nu_1=0}^{\infty} a_{(\nu_1, 1)} x^{\nu_1} = \sum_{\nu_1=0}^{\infty} \psi_{\nu_1} x^{\nu_1}$$

consequently

$$a_{(\nu_1, 1)} = \psi_{\nu_1}, \quad \nu_1 = 0, 1, 2, \dots \quad (4.13)$$

4.1.1.3. The problem solution

By grouping together (4.7), (4.12) and (4.13), we get

$$(A) \quad \begin{cases} a_{(\nu_1,0)} = \phi_{\nu_1}, & \nu_1 = 0, 1, 2, \dots \\ a_{(\nu_1,1)} = \psi_{\nu_1}, & \nu_1 = 0, 1, 2, \dots \\ (\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1,\nu_2+2)} - (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2,\nu_2)} + A_{(\nu_1,\nu_2)} = e_{(\nu_1,\nu_2)}, & \nu_1, \nu_2 = 0, 1, 2, \dots \end{cases}$$

(A) allows us to obtain the values of the coefficients $a_{(\nu_1,\nu_2)}$. Then, by substituting these values in (4.2), we obtain the exact solution of the problem (P). However, in practice, we use an approximation of the solution of the problem (P) in the form

$$g(x, t) \approx g_{M,N}(x, t) = \sum_{\nu_1=0}^{M-1} \sum_{\nu_2=0}^{N-1} a_{(\nu_1,\nu_2)} x^{\nu_1} t^{\nu_2} \quad (4.14)$$

Remark 3. The accuracy of the approximation (4.14) can be improved by increasing the values of M and N .

5. Application

For a better understanding of the proposed method and to illustrate the solution procedure described in the preceding section, we have selected the following example which shows the simplicity and the efficiency of the proposed technique.

5.1. Example

In what follows, the method presented in section 4 will be used to solve the following problem taken from [44, 45].

Solve the following nonlinear Klein-Gordon equation:

$$(P_1) \begin{cases} \frac{\partial^2 g}{\partial t^2}(x, t) - \frac{\partial^2 g}{\partial x^2}(x, t) + [g(x, t)]^2 = x^2 t^2 & (5.1a) \\ g(x, 0) = 0 & (5.1b) \\ \frac{\partial g}{\partial t}(x, 0) = x & (5.1c) \end{cases}$$

5.1.1. Method of solution

Let

$$g(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} a_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (5.2)$$

5.1.1.1. Treatment of the PDE

It follows from (5.2) that

$$\frac{\partial^2 g}{\partial x^2}(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (5.3)$$

$$\frac{\partial^2 g}{\partial t^2}(x, t) = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} x^{\nu_1} t^{\nu_2} \quad (5.4)$$

$$[g(x, t)]^2 = \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} A_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} \quad (5.5)$$

where

$$A_{(0,0)} = [a_{(0,0)}]^2$$

and for $(\nu_1, \nu_2) \neq (0, 0)$

$$A_{(\nu_1, \nu_2)} = \frac{1}{\nu_1! \nu_2!} \frac{\partial^{\nu_1+\nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} [g(x, t)]^2 \Big|_{x=0, t=0}$$

In the above, $\frac{\partial^{\nu_1+\nu_2}}{\partial x^{\nu_1} \partial t^{\nu_2}} [g(x, t)]^2$ is given by (3.2). Consequently, by using (3.2), we obtain

$$\begin{aligned} A_{(0,1)} &= 2a_{(0,0)}a_{(0,1)} \\ A_{(0,2)} &= 2a_{(0,0)}a_{(0,2)} + [a_{(0,1)}]^2 \\ &\vdots \\ A_{(1,0)} &= 2a_{(0,0)}a_{(1,0)} \\ A_{(1,1)} &= 2a_{(0,0)}a_{(1,1)} + 2a_{(0,1)}a_{(1,0)} \\ &\vdots \\ A_{(2,0)} &= 2a_{(0,0)}a_{(2,0)} + [a_{(1,0)}]^2 \end{aligned}$$

and so on.

Then, by substituting (5.3), (5.4) and (5.5) in (5.1a), we get

$$\begin{aligned} & \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} x^{\nu_1} t^{\nu_2} - \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} x^{\nu_1} t^{\nu_2} \\ & + \sum_{\nu_1=0}^{\infty} \sum_{\nu_2=0}^{\infty} A_{(\nu_1, \nu_2)} x^{\nu_1} t^{\nu_2} = x^2 t^2 \end{aligned}$$

and by equating like powers, we obtain

$$(\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} - (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} + A_{(\nu_1, \nu_2)} = \begin{cases} 1 & \text{for } \nu_1 = \nu_2 = 2, \\ 0 & \text{otherwise.} \end{cases} \quad (5.6)$$

5.1.1.2. Treatment of the initial conditions

It follows from (5.2) that

$$g(x, 0) = \sum_{\nu_1=0}^{\infty} a_{(\nu_1, 0)} x^{\nu_1} \quad (5.7)$$

$$\frac{\partial g}{\partial t}(x, 0) = \sum_{\nu_1=0}^{\infty} a_{(\nu_1, 1)} x^{\nu_1} \quad (5.8)$$

Substituting (5.7) into (5.1b) leads to

$$\sum_{\nu_1=0}^{\infty} a_{(\nu_1, 0)} x^{\nu_1} = 0$$

consequently

$$a_{(\nu_1, 0)} = 0, \quad \nu_1 = 0, 1, 2, \dots \quad (5.9)$$

Substituting (5.8) into (5.1c) leads to

$$\sum_{\nu_1=0}^{\infty} a_{(\nu_1, 1)} x^{\nu_1} = x$$

consequently

$$a_{(\nu_1, 1)} = \begin{cases} 1 & \text{for } \nu_1 = 1, \\ 0 & \text{otherwise.} \end{cases} \quad (5.10)$$

5.1.1.3. The problem solution

By grouping together (5.6), (5.9) and (5.10), we get

$$(B) \quad \begin{cases} a_{(\nu_1, 0)} = 0, & \nu_1 = 0, 1, 2, \dots \\ a_{(\nu_1, 1)} = \begin{cases} 1 & \text{for } \nu_1 = 1, \\ 0 & \text{otherwise.} \end{cases} \\ (\nu_2 + 1)(\nu_2 + 2) a_{(\nu_1, \nu_2+2)} - (\nu_1 + 1)(\nu_1 + 2) a_{(\nu_1+2, \nu_2)} + A_{(\nu_1, \nu_2)} = \begin{cases} 1 & \text{for } \nu_1 = \nu_2 = 2, \\ 0 & \text{otherwise.} \end{cases} \end{cases}$$

(B) allows us to obtain directly and easily the values of all the coefficients $a_{(\nu_1, \nu_2)}$ as

$$a_{(\nu_1, \nu_2)} = \begin{cases} 1 & \text{for } (\nu_1, \nu_2) = (1, 1), \\ 0 & \text{otherwise.} \end{cases}$$

Finally, by substituting the above values in (5.2), we obtain

$$g(x, t) = xt \quad (5.11)$$

which is the exact solution of the problem (P_1) .

6. Conclusion

In this paper, we have presented a method using the multivariate FdB formula due to Savits and Constantine for solving a large variety of linear and nonlinear PDEs subject to certain initial conditions. It has been shown that the proposed technique is simple, efficient and produces accurate results. Moreover, the method can also be used to solve PDEs with variable coefficients.

The author welcomes comments, suggestions and corrections.

References

- [1] K. Abbaoui, Les fondements mathématiques de la méthode décompositionnelle d'Adomian et application à la résolution de problèmes issus de la biologie et de la médecine, Thèse de doctorat, Université Pierre et Marie Curie, Paris, France, 1995.
- [2] K. Abbaoui and Y. Cherruault, Convergence of Adomian's method applied to differential equations, *Computers and Mathematics with Applications*, **28** (5), 103-109, 1994.
- [3] K. Abbaoui, Y. Cherruault and V. Seng, Practical formulae for the calculus of multivariable Adomian polynomials, *Mathematical and Computer Modelling*, **22** (1), 89-93, 1995.
- [4] A. Abdelrazec and D. Pelinovsky, Convergence of the Adomian decomposition method for initial-value problems, *Numerical Methods for Partial Differential Equations*, **27** (4), 749-766, 2011.
- [5] G. Adomian, *Nonlinear Stochastic Operator Equations*, Academic Press, Orlando, FL, 1986.
- [6] G. Adomian, *Nonlinear Stochastic Systems Theory and Applications to Physics*, Kluwer Academic Publishers, Dordrecht, 1989.
- [7] G. Adomian, *Solving Frontier Problems of Physics: The Decomposition Method*, Kluwer Academic Publishers, Dordrecht, 1994.
- [8] G. Adomian and R. Rach, Analytic parametrization and the decomposition method, *Applied Mathematics Letters*, **2** (4), 311-313, 1989.
- [9] G. Adomian and R. Rach, Transformation of series, *Applied Mathematics Letters*, **4** (4), 69-71, 1991.
- [10] G. Adomian and R. Rach, Nonlinear transformation of series - Part II, *Computers and Mathematics with Applications*, **23** (10), 79-83, 1992.
- [11] G. Adomian and R. Rach, Modified decomposition solution of nonlinear partial differential equations, *Applied Mathematics Letters*, **5** (6), 29-30, 1992.
- [12] G. Adomian and R. Rach, Generalization of Adomian polynomials to functions of several variables, *Computers and Mathematics with Applications*, **24** (5/6), 11-24, 1992.
- [13] G. Adomian and R. Rach, Modified decomposition solution of linear and nonlinear boundary-value problems, *Nonlinear Analysis, Theory, Methods and Applications*, **23** (5), 615-619, 1994.
- [14] A.F. Beardon, The differentiation of a composite function, *The Mathematical Gazette*, **55** (394), 395-397, 1971.
- [15] E.T. Bell, Exponentials polynomials, *Annals of Mathematics*, **35**, 258-277, 1934.
- [16] R. Bellman and G. Adomian, *Partial Differential Equations: New Methods for their Treatment and Solution*, D. Reidel Publishing, Dordrecht, 1985.
- [17] F. Ben Zitoun and Y. Cherruault, A new algorithm for solving nonlinear boundary value problems, *Kybernetes*, **38** (5), 681-697, 2009.
- [18] F. Ben Zitoun and Y. Cherruault, A Taylor expansion approach using Faà di Bruno's formula for solving nonlinear integral equations of the second and third kind, *Kybernetes*, **38** (5), 800-818, 2009.
- [19] F. Ben Zitoun and Y. Cherruault, A method for solving nonlinear differential equations, *Kybernetes*, **39** (4), 578-597, 2010.
- [20] F. Ben Zitoun and Y. Cherruault, A method for solving nonlinear integro-differential equations, *Kybernetes*, **41** (1/2), 35-50, 2012.

-
- [21] Y. Cherruault, *Modèles et Méthodes Mathématiques pour les Sciences du Vivant*, Presses Universitaires de France, Paris, 1998.
 - [22] Y. Cherruault, *Optimisation: Méthodes Locales et Globales*, Presses Universitaires de France, Paris, 1999.
 - [23] Y. Cherruault and G. Mora, *Optimisation Globale. Théorie des courbes alpha-denses*, Economica, Paris, 2005.
 - [24] L. Comtet, *Advanced Combinatorics*, D. Reidel Publishing Company, Dordrecht, 1974.
 - [25] G.M. Constantine and T.H. Savits, A multivariate Faà di Bruno formula with applications, *Transactions of the American Mathematical Society*, **348** (2), 503-520, 1996.
 - [26] E. Di Nardo, G. Guarino and D. Senato, A new algorithm for computing the multivariate Faà di Bruno's formula, *Applied Mathematics and Computation*, **217** (13), 6286-6295, 2011.
 - [27] J.S. Duan, T. Chaolu and R. Rach, Solutions of the initial value problem for nonlinear fractional ordinary differential equations by the Rach-Adomian-Meyers modified decomposition method, *Applied Mathematics and Computation*, **218** (17), 8370-8392, 2012.
 - [28] F. Faà di Bruno, Note sur une nouvelle formule de calcul différentiel, *Quarterly Journal of Pure and Applied Mathematics*, **1**, 359-360, 1857.
 - [29] S. Guellal and Y. Cherruault, Practical formulae for calculation of Adomian's polynomials and application to the convergence of the decomposition method, *International Journal of Bio-Medical Computing*, **36**, 223-228, 1994.
 - [30] G. Henryk, Multidimensional extension of Faà di Bruno's formula, *Journal of Mathematical Analysis and Applications*, **116** (2), 450-455, 1986.
 - [31] L. Hernández Encinas and J. Muñoz Masqué, A short proof of the generalized Faà di Bruno's formula, *Applied Mathematics Letters*, **16** (6), 975-979, 2003.
 - [32] L. Hernández Encinas, A. Martín del Rey and J. Muñoz Masqué, Faà di Bruno's formula, lattices, and partitions, *Discrete Applied Mathematics*, **148** (3), 246-255, 2005.
 - [33] M. Kawagishi, The multi-dimensional Faà di Bruno formula, *Rep. Res. Inst. Sci. Technol. Nihon Univ.*, **45** (7), 1-6, 1999.
 - [34] R.B. Leipnik and C.E.M. Pearce, The multivariate Faà di Bruno formula and multivariate Taylor expansions with explicit integral remainder term, *ANZIAM Journal*, **48** (3), 327-341, 2007.
 - [35] T. Mavoungou and Y. Cherruault, Convergence of Adomian's method and applications to non-linear partial differential equations, *Kybernetes*, **21** (6), 13-25, 1992.
 - [36] R.L. Mishkov, Generalization of the formula of Faà di Bruno for a composite function with a vector argument, *Int. J. Math. Math. Sci.*, **24** (7), 481-491, 2000.
 - [37] R. Rach, G. Adomian and R.E. Meyers, A modified decomposition, *Computers and Mathematics with Applications*, **23** (1), 17-23, 1992.
 - [38] J. Riordan, Derivatives of composite functions, *Bulletin of the American Mathematical Society*, **52**, 664-667, 1946.
 - [39] J. Riordan, *An Introduction to Combinatorial Analysis*, John Wiley & Sons, New York, NY, 1958.
 - [40] J. Riordan, *Combinatorial Identities*, John Wiley & Sons, New York, NY, 1968.
 - [41] T.H. Savits, Some statistical applications of Faà di Bruno, *Journal of Multivariate Analysis*, **97** (10), 2131-2140, 2006.
 - [42] V. Seng, Recherche de Formes canoniques d'Adomian pour la résolution d'équations fonctionnelles non linéaires par la méthode décompositionnelle, Thèse de doctorat, Université Pierre et Marie Curie, Paris, France, 1997.
 - [43] A.M. Wazwaz, A comparison between Adomian decomposition method and Taylor series method in the series solutions, *Applied Mathematics and Computation*, **97** (1), 37-44, 1998.
 - [44] A.M. Wazwaz, *Partial Differential Equations: Methods and Applications*, A.A. Balkema Publishers, 2002.
 - [45] A.M. Wazwaz, *Partial Differential Equations and Solitary Waves Theory*, Higher Education Press, Beijing and Springer-Verlag Berlin Heidelberg, 2009.